MINORS:
The minor of an element in a determi f order n is the determinant of order

n- 1 obtained by removing the row and the column which contain the given element.

For example, the minor o@g éhe 4th order determinant
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Is obtained by crossing out the row and column contalnmgkagz s shown, and writing

the resulting determinant of order 3, namely —/ n=4
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The minor of an element is denoted by capital letters
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VALUE OF A DETERMINANT OF ORDER n
The value of a determinant may be obtained in terms of minors as follows:
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\(ZS/MuItipIy each” element in the row (or column) by its corresponding minor
preceded by, ( 1)‘“ where i i+] isthe sum of the row number i and column number
‘j. The minor of an “element with the a’ﬁtached sign is Cél g\j the cofactor of the
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For example, let us expand the determinant

Write the minor and corresponding cofactor of the element in the second row, third

column for the determinant
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Write the minor and corresponding cofactor of the element in tiesecoRd=rews=taire
colmmreforthe determinant
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